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Solutions

D
A/B/C all try to draw a conclusion 
conclusions
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B
Since only three parents (enthusiastic at 
that) were asked, this is a sample size bias.

B
A ­ difference is 1.2% not 0.7%

B ­ likely to be true

C ­ need to see actual numbers to 
see if this sensationalized or not

D ­ evidence? based upon what?
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a) Highly likely to be unreliable.

b) What was the sample size used? What sampling technique was 
used? ­ We are looking to identify if there was any bias.
c) The data is likely to be used to sell more tabloids or magazines that 
specialize in sensationalized stories.

a) There is only one month that has a double digit number of sightings 
(October, 2013). Everything else is triple digits. The datum is 
significantly lower than all of the others, and as such, should be 
excluded.
c) It doesn't seem to necessarily be on the rise. It actually seems to rise 
and fall with a degree of regularity. 

b)
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a) The count seems to rise in the summer 
months and then fall again during the winter 
months. The count of the peak month in each 
year seems to be increasing though. 

b) Being more or less likely to be visited by 
extra­terrestrials during certain months is 
unlikely to be true. A possible reason for the 
cyclical count is that because people are 
outside more in the summer months, there are 
more sightings than in the winter months.

a) There is likely to be a voluntary response 
bias in the data. Anyone who claims a sighting 
is more likely to believe in extra­terrestrials and 
therefore more likely to misinterpret what they 
saw as a UFO sighting.

b) Is the sample representative of the 
population? Has the data been verified? How 
was the data collected? What sampling 
techniques(s) was used?



8.40 Uses and Misuses of Data.notebook

5

June 08, 2020

a) Canadian voter turnout is still substantially more than that of the US.

b) You could reduce the y­axis to start at 40% instead of 30% to make 
the US bars even shorter.

c) Canada's voter turnout continues to decline.

d) Change the y­axis scale by making it bigger (increase the length 
between each count of 10%). Elongating the bars will give the 
impression of a more dramatic reduction in voter turnout.
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